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Question £
You did not answer the question.

Express the curve by an equation in vand v
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Question 2
You did not answer the question.

Expriss the cune by an equation i a and v
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Question 3
You did not answer the question.

Express the curve by an equation in vand y.
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Question 4

You did not answer the question.

Express the curve by an equation in v and v and idenufy the correct skeich of the curve: i3+31,5-61) ANwg2
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Question 5
You did not answer the question.
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You did not answer the question.
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You did not answer the question.
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Question 10

You did not answer the question.

Find wn equation in v and ¥ for the line tngent (o the polar curve st
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Find the length of the graph
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‘The equations below
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You did not answer the question.

Find the lengthaf # = 2 from P =010 ¥ = 27
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